* Dividing by 10 Maze

Find your way through the maze by dividing the numbers by 10 to find out which way to go next.

Use the place value grids to help you to divide by 10 and to show your answers.

]

Start 8 76 0.76 22

7.6 0.2 [

24 2.4 20

0.24 2

81 0.7 7

1.8 0.07

-

92 9.2 Finish

e

Which of the answers have nine ones in them?

Which of the answers have seven tenths in them?

Which of the answers have one tenth in them?

Which of the answers have two ones in them?
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Dividing by 10 Maze Answers

Find your way through the maze by dividing the numbers by 10 to find out which way to go next.

Use the place value grids to help you to divide by 10 and to show your answers.

Start ° %@ 0.76 22
6 2

0.08 0.
0.01 0.24 °

6‘@&@ Finish

Which of the answers have nine ones in them? 9.2

Which of the answers have seven tenths in them? 0.7

Which of the answers have one tenth in them? 8.1 and 0.1

Which of the answers have two ones in them? 2,4 and 2
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* Dividing by 10 Maze

Find your way through the maze by dividing the numbers by 10 to find out which way to go next.

Use a place value grid to help you to work out the answers and record the calculations you do for
each step.

I e I S

Start 8 0.8 76 0.76 22
0.08 \ 7.6 0.2
9 0.9 24 2.4 20
0.01 \0.24 2
1 8.1 81 0.7 7
:| 0.1 1.8 0.07
z -
55 5.5 92 9.2 Finish
I R I N I

8 |[+10-= + 10 = + 10 =
+ 10 = + 10 = + 10 =
+10 = +10 = +10 =

Which of the answers have nine ones in them?

Which of the answers have seven tenths in them?

Which of the answers have one tenth in them?

Which of the answers have two ones in them?
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Dividing by 10 Maze Answers

Find your way through the maze by dividing the numbers by 10 to find out which way to go next.

Use a place value grid to help you to work out the answers and record the calculations you do for each step.

Start ° %@ 0.76 22
6 2

0.08 0.

= OE
OLOLC
°

0.07

6‘@”@ Finish

8 +10=1| 0.8 20 | = 10= 2 1 +10=1 0.1

76 | = 10=| 7.6 7 +10=| 0.7 55 [ :10=| 5.5

24 [ - 10=| 24 81 | =10=| 8.1 92 [ - 10=| 9.2
Which of the answers have nine ones in them? 9.2

Which of the answers have seven tenths in them? 0.7

Which of the answers have one tenth in them? 8.1 and 0.1

Which of the answers have two ones in them? 2,4 and 2
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Dividing by 10 Maze

Find your way through the maze by dividing the numbers by 10 to find out which way to go next.

Record the calculations you do for each step.

8 + 10

+ 10

+ 10

I e I S

Start 8 0.8 76 0.76 22
0.08 \ 7.6 \ 0.2 |:
9 0.9 24 2.4 20
0.01 \0.24 \ 2 |:
1 8.1 81 0.7 7
:| 0.1 1.8 0.07
z -
55 5.5 92 9.2 Finish
I R I N I

+10= +10=
+ 10 = + 10 =
+ 10 = + 10 =

Which of the answers have nine ones in them?

Which of the answers have seven tenths in them?
Which of the answers have one tenth in them?

Which of the answers have two ones in them?
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Dividing by 10 Maze Answers

Find your way through the maze by dividing the numbers by 10 to find out which way to go next.

Record the calculations you do for each step.

Start ° %@ 0.76 22
6 2

0.08 0.

= OE
OLOLC
°

0.07

6‘@”@ Finish

8 +10=1| 0.8 20 | = 10= 2 1 +10=1 0.1

76 | = 10=| 7.6 7 +10=| 0.7 55 [ :10=| 5.5

24 [ - 10=| 24 81 | =10=| 8.1 92 [ - 10=| 9.2
Which of the answers have nine ones in them? 9.2

Which of the answers have seven tenths in them? 0.7

Which of the answers have one tenth in them? 8.1 and 0.1

Which of the answers have two ones in them? 2,4 and 2
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